v
REDROCK:
v

BED SIDE MOLLE PANEL SET

(2005-2015 TACOMA)

INSTALLATION INSTRUCTIONS

CONTENTS

) Front Panels

) Rear Panels

) Straps

) Utility Rail Threaded Inserts

) Nut Plates

) M10x1.50 x 20mm Allen Bolts
) M10 Lock Washers

) M10 Flat Washers

2) M6x1.00 x 20mm Allen Bolts
2) M6 Lock Washers

2) M6 Flat Washers

)

(2
(2
(2
(6
(2
(6
(6
(6
(1
(1
(1
(2) Self Tapping Screws

TOOLS REQUIRED

4mm, 6mm Allen Key
8mm Socket

T-30 Torx Socket
Impact Driver/Drill

SKU #TT21811



’
REDROCK:
z

(RH Front of Vehicle)

(RH Rear of Vehicle )

L r r r | e 5 7 3 1 ' |
=

STEP1

.

-
o ------------ - ---_
- e T e e e
- T W - WS .

and (6) M6 flat washers

Assemble the molle panels using (1) nut plate, (6) M6 x 20mm Allen bolts, (6) M6 lock washers

S

STEP 2

Remove the end cap from the bed utility rail. Insert (3) utility rail threaded inserts into the bed rail



’
REDROCK =
z

STEP 3

Remove (3) T-30 Torx bolts from the top of the bed side storage container.

STEP 4

Align the bed side molle panel to the vehicle bed side. Secure the top of the panels using (3) M10 x
20mm Allen bolts, (3) M10 lock washers, and (3) M10 flat washers. Adjust the panels to the desired
location.



’
REDROCK:
z

STEP 5

Install the (3) T-30 Torx bolts through the molle panels, back into the storage container. Tighten
all molle panel hardware. Once panelis in suitable position, use (1) self tapping screw at the
lower front corner of the panel to secure the panel to the bed.

STEP 6

Repeat steps 1-5 to the opposite side of the vehicle. Use the provided (2) straps to secure items to
the molle panels.

Installation is now complete.



	TT21811 - RedRock 4x4 - Bed Side Molle Panel Set (05-15 Tacoma)-01
	TT21811 - RedRock 4x4 - Bed Side Molle Panel Set (05-15 Tacoma)-02
	TT21811 - RedRock 4x4 - Bed Side Molle Panel Set (05-15 Tacoma)-03
	TT21811 - RedRock 4x4 - Bed Side Molle Panel Set (05-15 Tacoma)-04

